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_ Y cb/cosa + 5 Wicosa [fang

Fo S WiEina (1)

E - ZC[ﬂ)/cosa+2(Wm:osa -k, W Sina) tang
s z(\NEﬁna—kH [W [Gosar) @

Z,={y cb/cosa +y Wicosa fang} {y Wisina} (3
Z,={ clb/cosar + Y (W Bosa ~k, W Eina) tang}

~S Wisina ~k, Wigosa)} (4)
P, =Pr(Z<0) (5)

P =Pr(Z=0) (6)

gooooooon
goboooooooo-booobboooboon
O0O0Ocasel JOO0O0O0O00O0OO00O0O0OOOOC case2
gobboooobbooobbooobooooboon
gobobooobboobobgooz2bboooboon
goooo

G.L.O 8.0

y t=17.64kN/m®
0 =2.94kN/m?
¢ =35°

y t=16.17KN/m
0 =4 . 9kN/m?
@ =30°

ooo
G.L.0O5.0

0o

(a)casel
G.L.O 8.0

y t=17.64kN/m

0 =2.94kN/m?
¢ =35°
y t=19.60kN/m?
000 [0 =29.4kN/m?
G.L.05.0 @ =5°
0d
(b)case2

o-0 o0obooo

ooooooboooooooo
g-00o0bo0o00oooooooobobobooboon
oobobooobbooobooobobooooboo-oooD
goboboooobooobooobobooobmooon
oobobooobboobboobobbddCcasel O
gobboo00ob0O0case2 UOUODODOOOODOOO
gobboooobbooobboooboooobooon
gobobooobboobobooobbooooboon
ooog
Uobbo0bOOcaseldcase2 00O O0OOOOO
gobobbooobobobooobobooobooboon

gbobgoboooobooboboobooboboobon
gbobges102194 00OO0ODO0O0O0ODO 800 30 TELO78U 79503267 FAX0780 7950 3314

-338-

EARFRFERO M E R A S CEAK134£101)



gbooogoboobbooooo

Fomin =1326

F min = 0.888

s,min

Fomin = 1302

Fomn = 0.729
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